Ideal Gas Law Problems

How many moles of gas are contained in 890.0 mL at 21.0 °C and 750.0 mm Hg
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1.09 g of Iz is contained ina 2.00 L contalnel at 20.0 °C. What is the pressure in this
container in mm Hg? p= P(ry=o.545(0.D 921y ("2}’?@
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7\% Calculate the volume 3.00 moles of a gas will occupy at 24.0 °C and 762.4 mm Ig.
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What volume will 20.0 g of Argon occupy at STP?
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How many moles of gas would be present in a gas trapped within a 100.0 mL vessel at
25.0 °C at a pressure of 2.50 atmospheres?
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How many moles of a gas would be present in a gas trapped within a 37.0 liter vessel at
80.00 °C at a pressure of 2.50 atm?
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Tf the number of moles of a gas are doubled at the same temperature and pressure, will
the volume increase or decrease?
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What volume will 1.27 moles of helium gas occupy at STP?
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